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�����# �$��%
����������ADA &���
��
����ADA �������	�
���	�
 	�������	�����������
��
 ��� �������	������������������ ����� !��

�"#$ �����%��
��

�"��	ADA ����&���
��'�(��ADA �
����)����* �)�	����	�
��������"��+�	��,����������-��
 ,���%��
�
 ���#	 ADA ����������)����.�/�����0����	�1�,)�	����0����� ���������
���	�������
 ����2���3	)���

������	��"0���	�"����������	 Embedded Systems  %����
Embedded Systems4�0��	�
�5�	��6�����"�����#	)�)�����������0�"����
��7�����������	������

�8����	�9��	�� �	%��
��

����'�������(����'�)�� ADA &���
��

With Ada.text_Io; 
Procedure Hello is  
Begin  
Ada.Text_IO. Put_Line (“ Hello��”); 
End Hello; 

��
Ada.Text_IO 
��7����� Package �8����5!�#��
 ��:	��;� !��<����Put_Line ��3.������#-�����	
�1���	�
��3	)�	�String �����(�(�	� !��=�8���%��

����+�Hello >	��?	�>��)������"�����������:��	�@������	�Put_Line %��
��

��
���
��* ��
�# �
��&��
��

With Ada.text_Io; 
Procedure Hello is  
I: integer; 
X,y:Float; 
Begin  
Ada.text_Io.Put_Line (“ Hello”); 
End Hello; 

 
*'��+
�4� 

��
�7�����	�"�A��	� �)���82���))���"�����	�
 �	�6�	%��

PI: Constant: =3.1415; 
Two_PI: Constant Float: = 2.0*PI;�
��

D�����ADA �
 .�����	�
 ����� ��B���������
�0��
��
 ��6�	�
 ����� ���C�����%��
D�����ADA �
 �����Case Sensitive�4����8����&����� �	�������0�	�D ���	���-���<����D ��+���	�
0��

�7���� �	�D �������* �0��7������	�
 ��!0�	�
��/�!�������0�D �����)���
 ����� ��	������%��
�D�E��	��)����,�
 ��ADA �
����(?����F�F�2�,�)�	���2����50��%��
�D��2��	���2� ����!��2�>���-��
�0��
��
0���
 .�����	����
 ����� ��	���
 	��
�0��
��
0���G����

 �+��������!��@�	���	� ����G���ADA �H ��	����	���8���%��

I, X, Y �4���.���!#	)�
 .����
�I��#�
���8��;�7��(?	�
0��

��:	��?	��
 

����2����@������	���5����@����
Hello!!�
�(�(�	� !��
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�* '��+
���* �����
���
��������,&��
��

���"�A�����D ����G!����
��
0���7��(;��F�JUnder Line�K����D �����)���
��* ���
0������
�$ ���.��
�
 �&	�,���
��
��+������
����(;�"	)#��	�
0���.��F�JUnder Line�K�������������&�
 �&	�5�	�

�7��(;�"�A�L����������E���8�����+��.����"A��	�
��<�12345 �"A��	��12_345 �
����2����������
��* ���
��(;�2����7E����A��
 ���#��%��

��
�D��	��8��$ ������	�
 ��:	��?	��B�	���	���)����
��@�����!��
0��Package �/��	��0��
�)�
��7�(������

�7���+�	���5$ ��	�; 
Use Ada.Text_IO;7�����)+���    �With Ada.Text_IO;��

��
����!0����+��	�
0�����0With & Use �7)+���Packages �%���

With Ada.Text_IO, Ada.Calender, My_Pkg; 
Use Ada.Text_IO, Ada.Calender, My_Pkg;�

��
D���:	��?	�Put_Line ( Param) �)�)���2��B��
�����	�
�$ �7��0���	��!�!��	��8��������:	��?	������

Put �)�)���2��
�)���!�!��	��8��������:	��?	New_Line �)�)���2��)����%��
Param�4�1���	�
�������String %���

��
D��>��)��.	Put_Line (2+2) �> 2�#�>��)��	���������:	��?	�
�Put_Line �
����	�����#-��.�

�1��Integer ����* �����C��� �	�@������	�2+2 �������	���8�;��4��
��

With Ada.Text_IO; Use Ada.Text_IO; 
Procedure Add is 
  Package My_Int_Io is new Integer_IO (Integer); 
  Use My_Int_Io; 
Begin 
 Put (2+2); 
New_Line; 
End Add; 

��
�)�2�	�
;Ada.Text_IO �2������1����
 ��:	��;� !��<�����String �����3	��������+��)�2�	�	���
����+��L���� �)���#M�)�2�)����)�2�	�	����#	)�
0��4Integer_IO ��������&����+��<��	���
����+��L����2�	� �)��"�+�	�)Generic Package ����3�&��,�3�A�)�� �G!����/���N�O�2���	�
�0����
0��

�)�)��"	)#��������+��L��3	�����/!+���
�New �����)����<��	�2���	�>�2�;���
��

My_Int_IO IS new Integer_IO (Integer) 

�)�2�	�
������� �)��My_Int_IO���:	��?	��#	)��!����0(��Add���
�C�� ��)A��"�+�	�)�2�	��80!�������	�B�	���	��
 ��:	��.	�P 5��G!���)�2�	�	��Integer_IO ����

�2�������&��5�	�'�)��� �	�>E�;�B��
0��J%��0(�	�J��K�G���C$ ��K��
��

�)�2�	Ada.Text_IO �2���	�����
�����+��E��3	��������+��String ���������Integer_IO �)�2����
��
 ���(���#-��
��* ����"���2����/�Integer����
��)�	��2���7)���")#����@�	���	�
�� �;�)�+��* ���	�

���!�0(��
��)�2�	�	���4 �

<����#	�"�	�

"���)�2�

<����#	�"�	�
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�1���	String�����	�2�����
��)�)+�	�� !��<�����
��
0���
0�Integer����
�����0�))��)�����
0���Q ��
�2����Integer %���

���
��
��
��

 
 

 
 

��
��
��
��

�>��)��.	�
;Integer_IO.Put > 2�#���������0���.�/������+��	��
"���)�2���/�����6��")#����
0��J/���'���(	�K�6�My_Int_IO  ��

��
R��7�����	�)��2�	���������� �	��,�
�0�����+����
0���G�����

"	)#�����7�(�����8+�����+��	With & Use �����8�	)#��	�
�)������������	���6��	��,���0�4��
�@������	�����0�
0���Q ��Test.Ada ��5������)����<��	��
 ��:	��.	�
��3E0Hello & Add %��

�
With Hello, Add ; 
 Procedure Test IS  
 Begin  
  Hello; 
  Add; 
 End Test; 
 

• �2���
��))+�	Float ��!� �5�	���A�"A���A�	� !��/�,�
�0��
��* ��������)+��"A��%��
• �C���ADA ��3E6���#S�2���
��
 .�����	�)��������� 

K: Integer ; f:Float ;                                  k:=Integer(f)+30 ; ������� �7�����          
 �

�2���	�
�������.	�)���Float� �;�Integer ���)��"A��	�
-,�rounded ��� ���.��truncated ���
��

��
�-���
��.���/�0�&Enumeration Types �1��
 
Type Rainbow_Color IS (Red,Orange,Yellow,Green,Blue,Violent); 
RC: Rainbow_Color; 

�
�������RC2���	�
��������  � Rainbow_Color ���
�)�	��D �����0(� !����:E�	�"�A�
�0��
��
0�����7��(;�
�$ �B$ ��,T T ��

Type Event_Digit IS (‘0’,’2’,’4’,’6’,’8’); 
�C��� ��	�P 5���,�
 �,�+��	��D �����	�I���
0���	�
�4��

Type Mixed Is (Big,Small,’x’,’9’); 
�
 ����+��	�2���������0�U�����	���&�
�4��

Type Processor IS (8048,Z80,….); 

�8������5���	������ 
Hello & 4 

�2���,�7)�	���0�

Put For Type  Integer 
Get For Type  Integer 

. 

. 

. 
 

Put _Line     For Type String 
Put               For Type String 
Get_Line     For Type String 
Get              For Type String 

			New_Line 
 
 
 

Put For Type 
	� 
Get For Type 
	� 

 

Ada.Text_IO 

Integer_IO 

My_Integer_IO 

�)��
�0
1 �
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��
-2	
��.���/�(Sub Types) &���
 
SubType Day_SubType IS Integer range 1..31; 
D: Day_SubType; 

��
�
 ��0�	�;I�1���
��Integer �* �0��
��
0��,�D:=D+I;����
�D&I 5��
�0!����2���	�P%��

�����,�
��:���
�2���)���ADA ������4��
��

SubType Positive IS Integer range 1..Integer�Last; 
SubType Natural IS Integer range 0..Integer�Last; 
 

�"	)#��	�
0��Positive & Natural �����	����,�37�(����%��
��

��
�-3�
��* 3����
��&��
��

• /= �< �����.���+�������!0�	��7������	IN ������	��#	)����>�(�<��
�0�	�;����,����#���
�3���������3��	����2+��J�3���2���K���
�����2���
�������	�
�����+��,4��

If X IN Lower …Upper Then ……………….. End If; 

Lower & Upper �1���	�
��
 .����� Float %���
If X �= Lower  And X �=  Upper Then ……………….. End If; 

��
�4�
# �
��4���
��)��� 0Short Forms&�1��

 
If D=0.0 Or Else N/d �=10.0 Then 
………. ; 
 ………. ; 
………. ;                     ( Block Of Code ) 
………. ; 
………. ; 
End If; 

��
������ !��2�(�	�'����	�;Or Else �����D=0.0 ����
���� !��2�(�	�H �,�"���
��/�-,Or Else����

���������5� � !�������	��!0(���� ���.��������6�	����+��	���+5��"���"��/�� 
N/d �=10.0 

�
;Or Else �/�(���VV������, C & C++  
If D/=0.0 And Then  N/d �=10.0 Then 
………. ; 
 ………. ; 
………. ;                     ( Block Of Code ) 
………. ; 
………. ; 
End If; 

��
����	����+��	�
�0�	�;�'������&JFalse �K��3E+5��
�0��
�����6�	����+�	�
-,���/� �5��
��<����	�;����

�'�������	����+��	�
�0�JTrue �K��3E��0����+��	�������)�)����/!�+5��* ������6�	����+��	�
-,���	�0��
��5� � !�����A���!����� ���
��/���
�$ �%��
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��
����
����'
�&��
IF 

* If A�= B and c=A+D Then  
………. ; 
………. ; 
End If; 

 
While Loop  

* While I�� 10 Loop  
………. ; 
………. ; 
End Loop; 
 

* * While True  Loop  
………. ;      �����	
���
�����������������
������	�� 
………. ;����         ���Exit 
End Loop; 
 

For Loop 
* For IX IN 1..10 Loop  
………. ; 
………. ; 
End Loop; 
 
** For IX IN Reverse  1..10 Loop  
………. ; 
………. ; 
End Loop; 

Ix ���!���#	)�/�5��
��U�� ��For �����!��	�
��I��#�	�)����5�#��%��

Case Expression 
Case C IS 

When ‘*’=� 
  …….. …… ; 
 ……………; 

When ‘#’| ‘$’ ��  
…….. …… ; 

 ……………; 
When ‘0’..‘9’ ��  
…….. …… ; 

 ……………; 
When ‘A’.. ‘z’| ‘a’..’z’ ��  
…….. …… ; 

 ……………; 
When Others ��  
…….. …… ; 

 ……………; 
End Case; 
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�W��V���+� Or ���
�WC �2���	�
�� Character �2���	�
��
�0��
��* ������#��	����+��	�� discrete �< ��    

(eumeration Integer)      
�WC �2���	�
��
�0��
�������.� Float �:���2���<������/���% 
�W����+�	������	��,�>�(��5���.����)���	�;�J��#-��"��	�;�<��K�
��
0����8��;���(��	�"���	�
��3���    

�Q ���* �0� Null �>�(��+5��"����.���
%��

* �
-��	5���6'���
�&��
 
Procedure Proc_Demo Is 
 X:Float:=1.2; 
 Y:Float; 
Function Twice (Dammy:IN Float) Return Float IS 
  
Answer :Float; 
Begin 
Answer:=Dummy*2.0; 
Return answer; 
End Twice; 
Begin _ _ main program 
Y:= Twice(X); 
End Proc_Demo; 

��
�������,�
�0��
��* ���
 	���	����	�B����"����
-,�B�	���	�������, IN ����
�0��
��
0��,�
 ��:	��?	���� 

IN  Out , Inout %���
�* �0��"��	�;�
 	���	����	�"��� (mod) ��#)�/�����+��	�8,��(IN) %�� ��

��

�* 3	�
�(Records) �&��
 
Type � Month_Type IS (Jan,Feb,Mar,…..,Nov); 
Subtype Day_Subtype IS Integer range 1..31; 
Type Date IS  
Record  
Day: Day_Subtype; 
Month: Month_Type; 
Year: Integer; 
End record; 
Usa: Date; 

��!����0�����	�������"���	� 2+�4��
Usa.Day: =4; 
Usa.Month: =Jul; 
Usa.Year: =1776; 

��
��0(������ Usa:=(4,jul,1776) ���+$ ��	�����2�	�=����aggregate �3��8��* �����	�
�0���%��
�0(������ 

�Usa:=( Month �� jul, Day=��4, Year ��� 1776) 
�"8����&�* �����	�����%��
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�* �7�"# �
�(Arrays) &���
B: array (Integer range –10..10) of Float 

��
B�
�����0���,�5� ��1���
����������1���
��3	�� ���Float �1���
��P �85��B��Integer%��

��,�5� ��1���D �+��
��
0�����0���,�5� ��1���
��
 .�����7)��
��U�� ��"6���
��

Type Vector A IS array (1..100) Of Float; 
D, E, F: Vector; 

��!����0��,�5� ���� ��+��"�A�>�2�;�
0���4��
��

V: Vector A: =(10|15|30|50 �� 5.5,Others �� 0.0); 
�

�)�3�
� (Strings)&���
��

�����B����-��"8��2���
 	���,�5� ���"8��C��� ��)���ADA ��������	����,���0��.�
��* ����4��
��

Type String IS array (Positive range��� ) of Character; 
��

�U�� ��
��
0��, S:string (1..5) ����* �0��
��B�2����.� S:String%���
����+��	���X�3�+��
��!�!��2����"������1���	�P 5��
��
��,�5� ����!���<��J�2���	�K���)�5���� �����

��� �+�	�2���P 5���8���,�5� ��B�%��
 

����'��.
�'�(���' ADA��
• �# ��
���
��"
������/��8��	������
�(����'��
'�4�19 9.39 ��
 

With Ada.Text_IO, Ada.Integer.Text_IO; 
Use Ada.Text_IO, Ada.Integer.Text_IO; 
 Procedure Add Is 
  Oddnumber:Integer; 
 Begin 

Oddnumber: =1; 
While Oddnumber�=39 Loop 
Put (oddnumber);         

  Oddnumber: =oddNumber+2; 
 End Loop;   
  End� Add ; 

��
• �:�,� ���� �� �)�$�/�(����'�;����
��)$���������)�$�5��< ,��
(0) ����'.
��(�������
��

�:�,�/��=>����?@��
With Ada.Text_IO, Ada.Integer.Text_IO; 
Use Ada.Text_IO, Ada.Integer.Text_IO; 
 Procedure Multiplay Is 
  Stop: Constant Integer: =0; 
  Number: Integer; 
  Mul:Integer; 
 Begin 
 Put (“Enter 0 When Finished”); 
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 Put (“Enter the First Number”); 
Mul: =1; 
Get (Number); 
While (Number/=Stop) Loop 
  Mul: = Mul*Number; 

 Put (“Enter the Next Number); 
 Get (Number ); 
End Loop; 
Put (“The Result Is “); 
Put (Mul); 
End Multiplay; 

��
• ������'�������� �����	�����'.
�(����'&��

��
With Ada.Text_IO, Ada.Integer.Text_IO; 
Use Ada.Text_IO, Ada.Integer.Text_IO; 
 Procedure Squre Is 
  Function Sqr(Num:Integer) return Integer Is 
  Result: Integer; 
  Begin 
     Result: =Num**2; 
Return Result; 
End Sqr; 
Maxnumber: Constant Integer: =10; 
Sqrnumber: Natural; 
Begin _ _ Main Program 
New_Line; 
Put (“_ _ _ _ _ _ _ _ _ _ _ _ _ “); 
New_Line; 
For I IN 1..Maxnumber Loop 
  Put (I); 
Sqrnumber: =sqr (I); 
Put (Sqrnumber); 
New_Line; 
End Loop;   
  End Squre; 
 
 
 

��	���������5�4 
1   1 
2   4 
3   9 
4   16 
5   25 
6   36 
7   49 
8   64 
9   81 
10   100�
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A7�:���
�ADA 0�TASKS1&��
��

�������	�"��+�	���-���������,��7)���Q )�� �
 A��	�P 5���
 �2�(��7)�������6��	������ !+,������2��
0��
�* A	���
����M���U����	�
 �������������0(�����"��8�	����	�����")#����	�
 ��!2���������� !���2����

��8$ +��
���!�����7�8���7)����G�����&�������	��6�%��
��

�1���	�	���
���:�����������������2����)���	�Y,���� �����	�������������	�
 ����"�+��
-��)������")��
����	���
 �2�(��	�0��
�����+�!��7)�����	�")���.����3E�!A�����!����� ADA �3����0��6����2�������8��	�
-,�

�� �#���������
 	)���7)��B��<�	���	� !����+����3���2����!�����"�8��	�
�0��Q ����� !������5���
0���
���������"���7)����
 ����+��	�7))+���"�����%��

��
�)�+�
��)
'�������&�
���8��	��3���������+�������5��	������
��
 ������#-�� ���	���8��	�C��� !���8+����
���� ���2����0(�����8��	�=���
0����JProducer �K���2�-�����5���	�D ���	��#-������6�	���8��	�
�")��������8!���������8��	�=���
0����JConsumer ��K��
������ �.	�
��
	��+��
�����:��
�����2�)���


���8��	�
����%���
��

�
�/����
�.
�7�&�������/�������8��(��)����	�'�)�� ��E#�
�������8��	�JProducer��K������������
�C���5��	������
 E#)��
����"6�
������+��2��2��B�����
��>�8��.	�)�������2����,�/+�����"�����B$ ��

�
���8�!�����������,��+����0��(��7�0	��J�)����'�)���K���
 	�(Z��	�1	����[ +��)�)���"�����)+����

-��/����!��������<�����)����	�'�)�� ������8���,���������JConsumer �K���,�7)�	����	��:����	�B���

�)����	�'�)�������� �.	�
��1���	�	���)�	�A�* ������)����	�'�)�� ��#)��
��7)�	����8���
0���2�,��
��)�	��
 A���,�J��)�����	�C���	�K���
 A��	�P 5�����#)�	�
���8��	���!0�
 �����	�;�������	)�;� !��* ��,

������.	���� �#�	�B���#	)���E�0%��
��

��#)�<��)����"��	�;�G��������8��	�
-,Consumer �)����	�'�)�� ��,����������
 ��0�	�;���#���8��
��
���8��	Consumer �����������+���,�����(�������8��	�
-,Producer ��:����	�/�����B������2�����

�	�'�)�� ��,��8�	)�;��)���%��
��

���,����� �)�����1������0���������	�
 ����"�85���JSemaphores ��K�����������JMonitors �K�
������	�
 ��!2���	�'�����%�1���	�
����8��
���60�������	�)���JProducer �K����
����8��
���60��

�1���	JConsumer �K����2�,�
���8��
��3.)������ !����� ��	�<���$ �	�
�,���������
��
 ��!$ ,��"�
�B�����	��	�	���
-,�* ����	� !��
�	������&�"�8��	���� �	�
��1���%��"	)#��	�
���$ ,������2�)���

�����
 	��,�����	4��
��

�
�
'.��+�/����
�.
��4�"�8��	����5������+������0(�	��,���0��� ����!�!���>	��Y0���8���0�����+����4���
"�8��	�
�0��
��
��3.)�,����	������&����"�8��	�[ +��
-,��

�
�0��	��
����������	����
�0�����!� ���
�0����)����
��8�������,�
�6)�����
�� #(���8��(������2����

��
C'��
��)�+�
��:��$���'�&�
���#)��2��B�����)�+,     

���8��	���A�JProducer K�����3E#)����)�����8�Y,JEntry �K����8��	�
�JConsumerK�����
����(��	�
���� �E��7�������8��	�����������	����!�	��,�JAccept�K���#)��	���8��	��8�,���������	���������)+��

Task1 
Task2 
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�[ +��	���8$ +��
���� 5����0(��
���8��	���+������8��	�C�� �� ��JProducer ��K��������"�!����7����
���#�����)�����D �+��C��� �
�	���<��Rendezvous%���

��
�
 ��0�	�;�)����	��2����,�����6�	���8��	�
�0��
����A������	������#)!��7�����"�8��	��)�;���G!���
-,

�
 	���#�Q E6���8��	4��
��F�))�����&��0(�������.	%��
��F����+��������7��5�������.	���%��
��F���#)�	��8�0��/���� �E��7�������#����8�������	�%��
��

.	�
���������2�	�=���
��7):�5�	���A�6���60��
�0����� ����"�8��	��)���
 !2+��	�Y,����,�
0���
 �#-����
���!$ ,�	�
 ����A��#-���G���D (�0��
����#����8��������	�=��%��

�3���	����"�8��	���� �	�
�0�	�;�����J�)����	��2����,�
	�8���
���8��	�K���
�����+��	����8���
0��,

���8��
�����	����	�
 �AE+�	%��

��

�)������'�:���
�ADA &���
��

���!������:���������
 	)���Q E6��)�;���8��	����+�ADA �J����:���	�@�	���	�����
���A���	�
��)���	��
��������	�"���	�%�K��

��

���A�
����8��	�
�0�� :���8��	�D �� ���"�A�������8��	�"���"�A������8��	�D �� ���"�A��6���

Specification ����8��	�
����8�	��	��������	�
 	)���	�����������
 ���!+��	�
����8��	�"���
�0��������
��5��!���!����	%���

��

�����
��< 
# ���0Task Specification 1�    : � 
 
Task Consumer Is  
 Entry Recive_Message (A_message: in String); 
End Consumer; 

��
Consumer��4���8��	�"�	JOptional �K�< ����#	�<�%��

Recive_Message��4< ����#	������#)��	�"�	%��
A_message�4��
 	���	���J����� �
 E��+��K���������
0������	��:����	�1���D � ����)����#-��)A�

�I�����	In, Out,��In Out  ��������0��',)��	��8��))��,��%��
��:���@������>��)��	��8���U������2���<��
����8���#)��>��)��	�
0���J��
��<������:���@����

���#����8��
��������:��@��������������������"���
����Package ����
�� �+��)����.�
0�
���8����)�������� �#�	��8!#	)�����8�5��B���� ���
����8��
 �����	�Y,������
 ���2��(�'!#�
0��
Dead Lock �����������)����	�
���3�+����"�8��	���������)���
 ���	�Q )�������C�� ��
��3��!2��
0���.

�3	��%��
��!����0���8���D �� ������)��
0���4��

Task Protected_Stack Is 
 Entry Pop (Element: Out Integer); 
 Entry Push (Element :In Integer); 
End Protected_Stack; 
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�7���+�	�'��2��
0���.Use �"�8��	��#	)�� !����'���;�3��:	)�<���$ �	�
��G����"���� �)����	��#)��	�
���8��	%��

Protected_Stack.Pop (My_Value); 
Protected_Stack.push (36); 

 
�
 ��:	��?	��6���#	)��	�������7)��;�
0���4��

�
Procedure Protected_Pop (Element:Out Integer) Renames  
  Protected_Stack.Pop; 

��
	�"�	�
�0����)���3	)��7)�5��������	�7)��;����8������!��2��8!#	)��>������������� �����&�������8:�2���

�#)��	���+����.)�	��3���	%��
��:���@������>��)�����/��(��#)��	�>��)��	�
;����!������D !�#��
0�4��

��:���	�@������	�P 5��>��)��	�"�8��7)��
 ��2��	�	�;���@������	�P 5����5���3��!+,�"�8��7)+��
0����:)��
��:���	�)�	��
 A���,�����G��(���:���	�@������	�������
-���������)�����

�J���#)�	�))+���JReentrant�KK������$ �����)������������ !���JImplicit queue �K����
 �)��	�	�Y,
��#)��	�P 5��"�8��7)����7)�	����8��2�,J�3.����#)��	�
 �)��	����	���8��	�
��\>	)��	�K���5�����8��C���

���	�)��JRendezvous�K���	��,���#�	�"�8��	�B�������������0����� ��	�* �����',�����$ �	����
���8���

��
JFirst_ In_ First_ Out �K�����8�!����!$ ,�	����)�* ���P ������P 5���
���8��>��)��	������,�

�7)�	��������,��#)��	���3������#	���8��	�����#	�"���,���A�����	�G�����8���
0���������,�)����	����0;��
�2�(�	�)����JTime Out �4�K������.	�
���
��"���	�"���	��$ ��)+����)�	����
���2(����8���
0���

������	�P �#�	�
 .���	��)�;��,4��
��FRunning �J����5���4�K������	�
 A��	��,���8��	�")#��@��+��	%��
��FReady �J���������4�K��05�����8��	�J�����,�
 ������#-������3	)����7������
 �����K�����
��7�����

�����+��	%��
��FBlocked J�������	�4�K���#-��������,���8��	���3	)����7��������%��
�FCompleted �J������0	�4�K��8����!+���!�!����5���
 8�����8��	%��
��FTerminated �J��>�8��	�4�K�3	)����2(����&���8��	��)����2(��)+��"�����3	%��
��

�
 .���	�=���
������5��	�22#��C$ ��������	��0(�	�4��
��
��
��
��
��
��
��
��
��
��
��
��

	
�����	������	���


����� 

Elaborated 

Completed 

Running 

Terminated 

Ready Blocked 
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����8��	����;�* ���>)��	��,Elaborated ��8����B���8���� ������0�<�������2(��	��8������E#����
-,
�
 .���	��)����#-����8��	Blocked  ���Ready , running ������	�
;��Running ���8��	�
-����(��

!��������+��	�B�����G�J�@��+����7�0	��K������	�Ready �����+��	�B�������������8��	�
-����(������8�0�
���5��!��7������������	�Blocked �)�����6��3�6)����������8��	�
-����(���%��

��
�,ADA �
���	�"�����������	�#� �;�"�8��	�* �����I�����.�����2(����8��	�
�0����)�+,���0����+������8

� !�����!$ ,��
 	����8���8��� �����5���	�������������0.	��������������8����!+����5���
����8��>�8��	�)���( 
Completed ) �����8���2�����	�"�8��	�B�������0�� ��������������8��	�����0	�)+�����< -����8��	�"�8��.

�)������>����	�"�8��	�B����>�8��	������,��2�(��	�
������8��	��8����%��
��

������	����)� �;���(������6�
 ��!$ ,����8���0��2���������,�7)����������!$ ,�	���6-���6����Q ��
����������+��	�B�����H �� #��J�
 ����+��	���7�0	��	�
0�������K������	����"�8�� �;%��

��
�W���5��!��7�������8��
���60��)���������,������	�������"�8��	�=���* �+���	��8�0���.�7�����	��)	

�7�����	��� !��	���!$ ,�	�
 	����8��	�����#	�"������)���������5���"����J�������,��8+$ �Running %�K���
���������
 ��!$ ,��
 	��7�����	�"�8��	�
 ��0�	�Y,���7))�����&�
 ��!$ ,���������&������	�* �����	�
-,

��,�D �+�ADA ����	�G�������5��!���	���%��
��
�W���8���,��60�����3E#)��D �+��
��<���$ �	�
��P �������!�����G�����6�4��

Task Producer  
��

��:������ �	������<��G!����.���8��D ��+��"�������	�=����,�J��#)��<�Entry �K����
��1���	�	���
� ����"�8��	Actor Tasks �����������7)���<����)#�<��")���.��8,�� �#�%��

��2(��������,�3��:	)� ����
0�����1���	�
����8��	�
0�Actor Task ���:���	��#	)��	���)����
��B�2����
�� �#��"�8��%��

��
�W�1���	�
�����+,���&�"�8��)������0Server Tasks �����#	)����)����.��8�0���#	)���G!����8���	�;

���#��"�8�%��
��
�W#	)��<�������8��)����
��
0������#��"�8����A�
��")#��������"�8���#	)��")#��������)�����

���#�%��
��

• �7��)��	���8��	�"�	�D �+��
��* ������)����	���8��	���"�	�D �+��.�7��)��	���8��	������
����)����	���8��	%��

• ��
�����
��:��	 Tasks Bodies  

 
Task Water_Monitor; 
Task Body Water_Monitor IS 

Begin 
   Loop 

If Water_Level� Maximum_Level Then  
  Sound_Alarm; 

End If 
     Delay 1.0; 

�":	)��0(����8��	�=������������3�8������)� ��
�������
�+��)��'�,�>���	�������)	)�����)�� 

J�Maximum Level �K���
���!+��	�Delay � !����������8��	��+����

�7)�	������6��A�	�� 
�J�D � ���@������	���2��=))���2�(����

�"��������K�����������!��	���0���G���)+��%��
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  End Loop; 
End Water_Monitor; 
 

���8����#	)����,���	�-,������!+���A�	� !��<�����
����8��	�"��� !��* ��Accept �7)�	������0����,	��
��#)�%��

��
)�+�4���

�	� �;����������������	���8��	�D �� ���")����
 
Task Consumer IS  
 Entry Transmit_Message (A_Message: in String); 
End Consumer; 
Task Body Consumer IS 
 Begin 
  Loop  
    Accept Transmit_Message (A_Message: in String) Do 
    Text_IO.Put (Modem, A_message); 
    End Transmit_Message; 
  End Loop; 
 End Consumer; 
�

�1���	�
����8������
�Nonactor �)����'���������
������
������	�
�2�(�	�'�����
��* ��4��
�F���8��	�I��#�
���#)��>��)��	%��
�F����!+��Accept ���8��	�"����#	)�
����,	���	�%��

��#)���0�����
�����
���60��������!+��< �����
����8��"���B�2���Accept �������!+��Accept �
�����7��������!0�
���5�Z�Accept ����������#	���)��B���#)��"�����������J�
 	���	���%�K��

Accept Do ………………………. End  
�7���������;�B�2��������<��)����")�������,�Do ………………………. End��%��

��

���
�A7�:���
��������+� ADA &����
�4���������
�(����'�&��

 
With Ada.Text_IO; 
Procedure One_Task IS 
Task Type SimpleTask (Message: Character); 
Task Body SimpleTask Is 
Begin _ _ Simple Task 
 For Count IN 1..10 Loop 
   Ada.text_IO.Put (“Hello from Task “&Message); 
   Ada.Text_IO.New_Line; 
 End Loop; 
End SimpleTask; 
Task_A: SimpleTask (Message �� ” A” ); 
Begin _ _ One_Task 
Null; 
End One_Task; 

�"����8��	 �
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�
 ��:	��.	�P 0�� !����2(������ �)����.�"�8��	�J��+5��K�3���M�����8���,A��� ����������5�������)����
�2���	�=��� �;�"�����	  �J��)+��7�(���Begin �������:��	�@������	�
 ���!+��
�����!+��<���5���
����A��K

��5���	�������4�����!+��	�����0���0�Hello from Task A�
 	����(���%��
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
Hello from Task A�
��

��

�(����'��
�����&��

With Ada.Text_IO; 
Procedure Two_Tasks IS 
Task Type SimpleTask (Message: Character; HowMany: Positive); 
Task Body SimpleTAsk IS 
Begin 
 For Count IN 1..HowMany Loop 
   Ada.Text_IO.Put (Items=� “Hello from Task “&Message); 
   Ada.Text_IO.New_Line; 
 End Loop; 
End SimpleTask; 
Task_A: SimpleTask (Message=� “A”, HowMany=� 5); 
Task_B: SimpleTask (Message=� “B”, HowMany=� 7); 
Begin 
Null; 
End Two_Task; 

��
���8��1���
��
�������
�������SimpleTask ���

���8��	A ���8��	��B�	�=��� �;�"0���	��� ����������5������
M)������2�����
�����!+��<���5���
����A�G���
����:��	�@������	�
 ���!+�%��

�3.����)������8��<��)�)���"���.�����%��
���8�������5���	��)�����)�+,B�7���+�	�����2�"���<�����0�������5��,��Hello from Task B ��
 	���B�����
�7���+�	�����2�"�����)+�� Hello from Task A 
 	���P �#�%���

���5���	�������4��
Hello from Task B ��
Hello from Task B �

�Hello from Task B ��
Hello from Task B ��
Hello from Task B �
Hello from Task B ��
Hello from Task B �
Hello from Task A��
Hello from Task A�
Hello from Task A�
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Hello from Task A�
Hello from Task A�
��

��
�$����:� Delay �B����
��C
���
��&��

With Ada.Text_IO; 
Procedure Two_Cooperation_Tasks Is 
Task Type SimpleTask (Message: Character; HowMany: Positive��; 
Task Body SimpleTask IS 
Begin 
For Count IN 1..HowMany Loop 
 Ada.Text_IO.Put ( “Hello From Task”&Message); 
 Ada.Text_IO.NewLine; 
 Delay 0.1; 
End Loop; 
End SimpleTask; 
Task_A: SimpleTask (Message=� ‘A’, HowMany=� 5); 
Task_B: SimpleTask (Message=� ‘B’, HowMany=� 7); 
Begin 
Null; 
End Two_Cooperating_Tasks; 

��
��2���	�=��� �;�"0���	��� ����������5���	��)����< ��)�)���"���.��3.����)������8��%��

���5���	�������
�0���
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task B 

�:��$���start Buttons �:���
���
��'��
���'�:����
��&��
 
With Ada.text_IO; 
Procedure Start_Button IS 
Task Type SimpleTask (Message: Character; HowMany: positive) IS 
 Entry StartRunning; 
End SimpleTask; 
Task Body SimpleTask IS 
Begin  
Accept StartRunning; 
For Count IN 1.. HowMany Loop 
 Ada.Text_IO.Put (Item=�”Hello From Task”&Message); 
 Ada.text_IO.New_Line; 
 Delay0.1; 
End Loop; 
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End SimpleTask; 
Task_A: SimpleTask (Message=�’A’, HowMany=�5); 
Task_B: SimpleTask (Message=�’B’, HowMany=�7); 
Task_C: SimpleTask (Message=�’C’, HowMany=�4); 
Begin – Start Buttons 
Task_B.StartRunning; 
Task_A.StartRunning; 
Task_C.StartRunning; 
End Start_Buttons; 

��
���5���	������4��

Hello From Task B 
Hello From Task A 
Hello From Task C 
Hello From Task B 
Hello From Task A 
Hello From Task C 
Hello From Task B 
Hello From Task A 
Hello From Task C 
Hello From Task B 
Hello From Task A 
Hello From Task C 
Hello From Task B 
Hello From Task A 
Hello From Task B 
Hello From Task B 

		

		

		

		

		

		

		

		

		

		

		

		

		

��
�������������
��������������
������������

�"�8��	���	)��* ������"0�������J�3.����5������8��<�K �


